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of t h e  i n t e g r a l  aan be p u t - e q u a l  t o  zero. 

write i t s  equal, [d (Vr)/dr] 

and s, re f i n d  

For ( V  - .k ) a t  mall r, we can 
r . ChancinE then  t o  t h e  coord ina te s  @ 

r =  0 

The i n t e g r a l  I s  obta ined  numer ioe l ly  from t h e  data of t h e  so lu t ion .  
2 

The kine t io  energy of each e l e c t r o n  of mmnentum E i s  p /a. Yul t ip ly ing  

by t h e  d e s n t i y  of e l e o t t o n s  wi th  i n t e g r a t i n g  over a l l  space, w e  find for t h e  

k i n e t i c  energy of a l l  e l e c t r o n s  

This expression car. be s i m p l i f i e d  by a ra ther  long  sequnnce o f  opera t ions .  

I f  one integrates by p a r t s  first by - r, and t h e n  again by E, end then uses  

Sq. (14)  t o  r e p l a c e  one of  tt,e i n t e g r a l s  on E one can show f ina l ly  t h a t  

where V is t h e  velue of t h e  p o t e n t i a l  a t  t h e  surface of t h e  at- r = a. 
a 

me integral  is, o f  oourse ,  p ropor t iona l  t o  I3l2 ( - eva - 7 ) (see ~ q .  (159)). 
kT 

We next oanpute  the pressure. Sinoe t h e r e  is no f i e l d  e t  r t a, e l l  o f  t h e  
2 nomentum c a r r i e d  aero88 t h i s  s u r f a c e  (which i n  one second pe r  OIP is P, the' 

pres su re )  must be carried by e l e o t r o n a  c r o s s i n g  this mrhoe.  

reason wby c w p u t i n g  t h e  p r e s s u r e  a t  r f =  a i s  p a r t i c u l a r l y  s i ~ p l e .  

po in t  presrmre s i~rply  appea r s  a8  the pressure of a R-ee e l e o t r m  gas. 
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